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1. Translate the following unseen passage into Japanese (kanji and
kana): [35 marks]

Easy to recognize but hard to comprehend fully is the remoteness of the
Japanese and English languages from one another. In the late 1850s and early
1860s, the need for word-books, or inter-language dictionaries, was quite
urgent. The two sets of vocabulary were far from parallel, however; too often,
objects and ideas in one society were absent in the other. The invention of
equivalences was thus the first critical step in an arduous process of translating
English words into Japanese.

The assumption of equivalence between two languages at least implies
equivalence between the two cultures. The relations between Japan and
England were overwhelmingly characterized by differences rather than
similarities, however, and such an idea of equivalence was hard to accept and
nearly impossible to realize in the practice of translation. Nevertheless, the
Japanese felt that it was strategically vital and politically crucial to insist on
equivalence and symmetry. The idea of cultural comparability was inextricable
from the basic quid pro quo principle of international diplomacy. The fact that
an English text could be translated into Japanese, and vice versa, was seen at
least partially as an act of demonstrating Japan's cultural compatibility with
Britain at a time when the British Empire ruled the world.

parallel K%
symmetry KPR
inextricable )0 B 720
quid pro quo EESPFSK(il
principle J B
compatibility A

MASAO MIYOSHI, ‘The Invention of English Literature’ in Masao Miyoshi and
Harry D. Harootunian (eds), Japan in the World (1993), p.277.
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2. Read the following unseen text and answer the accompanying
questions: [35 marks]

WHERM] NEERZRD ?
HEZZOBNMK=ZRRIARS

O FFEEEICAARO THARIEL, BELTHL Y ——, TARKIER
TATT &, HRFECRLRAEZZROBNK=Z S AN, [THARYEER
#EtE]  CNPfE) TIRE L TW5, mEEEICLAX D08, £ O
72D,

@ WINSADRSOMIEIEZ 572, ENOREit42 AR (ZHE,

P EE W EE RO, @ EEMN =Y TINOEEREZ FFo, fTERE

8B LB L, BEEIZASTELOSEEME., BEIGEWIEFRRO
FTELEDLIIZTH—

@ BEEIT. AR ESR, KESLTWIDEN D B AMZ DOBLRA~ DRV E
PIRTS,  THIERBUBTCHEAR & HiflF & BEENFRLE S D 7 — L ks e
B BEENBLRWEE, AEERERRT DL, T 27 ATHRSRE
REWZHIRBI L TWD, EROMTIIHHEME LANEEN, N2 &N T
W5 |

@ BADOANHIZZ206 0FEIZ8 THABETEDLIAL EWHIHE D H D,
BINSAFBIEL OZEND AT HNE TZIT ANATREE AT, 4 7 #E R
DHIBL20T505~100FATD, 51 TH~2THADXZITANER
FIZAND,

(TURN OVER)
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® 72, HADDLOBEREOFFUNARIZ S #57 LTV HIEBis . S E A
IR DN D00, THROHGETIXA 7 703 TWn 5, Kil, EX.
EE, BCRITHE LI ICH D, BETEIHF LRV, £ 9\ ) Hllixg -
ENZ 3D TH vy, AARTHEINZ 7O, KRR, NERRETLF v
YABGELIND ]

® WHEHILT X X7 AL D~ A F AEHIBOR TR R L T
HEEOZTMIC/R D LB D, [BEZ LW IEOENTEIZ B RO
Nind %, Lovd EHITIRY 72 <2V, Z ZICERDPE T SIIEENE
TRWVIET N2, AR Z D 2 & CRETRIOBAMFEILEL Y v v % —i
JEATITETE L, MO A4 5

@  DFREERM) TITAARANSER, AROMY, Hil CRAE L ZRT D
WA, EBhAA PAE—=F R E0EELH L5 D RAN, HEANEZ
FANLIND DD,

®  [E CHi CTHEAS AL 2 5 BIFRIC 724U, RAIZHZ T ) SRS

loo FRELT APNWE DBEZ T AND N EHIRT D70 EXF LT 4 —%
BdzeT, @ EEMIC oA FERE L, T<ShIEAMEZIRELTH S
71 .

@ MNSAEMIS, TRETON02 KRICBET 5 T4 7 VER] <.
GRS CALRIERR T B AR &M &5 5 [IEBOKPEMRER) 7 DT AT 7 6
EECTHTE, THARTREIZR > TESTEBY, HLUOEANKLIE] L\
96

O Motick s &, L1 T, #ED 2=—272) THRFHET

5] MIzBZTWDHALE] REDEERH D LI,

(7R FH REFI)
Source: Asahi Shimbun, 24 August 2016, p. 3.
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ﬁﬁ H:

(a) Summarise the above passage in Japanese (kanji and kana). [25 out
of 35 marks]

(b) Answer in Japanese: 728 THERH ] &9 SEEZMHEV, Z oWz

R EFEATWD O, ZOBHmEEZ T

L2 E 0,
[ 3 out of 35 marks]

(c) Answer in Japanese: [WikERH | G0 & @ O BB AGHE OFE

{1173, [3 out of 35 marks]

(d) Answer in Japanese: f&/NK =R $EE 35 TfEEHL) 2o\ T,

EDXHI AV b, TAV Y ERBHBHEEID, bRl-0ERE2E

72XV, [4 out of 35 marks]

(TURN OVER)
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3. Write an essay in Japanese on the following topic (kanji and kana): [30
marks]

Suggest countermeasure(s) against Japan’s declining birth rate.

END OF PAPER
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